[image: image1.jpg]7, G )N Bodd (amsvas Electronics & Control TSt

Transistors can be used as electronic switches. They
sense small changes in current which ‘opens' he flow
of the circu, allowing an output device to operate.
ts 3 logs must be connected correctly for it to work.
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The legs are ideniied as: The base is 3
‘connecied 10 the input sensor switch. The

collector is connected o the output device. b

The other leg is an emitter and i connected

10 the negalive of the power supply (batiery). 2

The base shouid always have a resistor on it BENTIICATON
because it protects the transisiorfrom being.

damaged by having too much curent flowing through it
Drawthe missing ransistor onto the 3 cicuits beiow,
Clearly label the ifforent legs vith an e, b or .

Name the input sensor for each of ther.
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A counter is a type of process control whose oulputis often
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e
el

A special ‘chip! i avaliable to decode the input count o an oulput display
What segments need to be it o cispiay the number 37
How many displays are needed to showa 4 digit number? ___
Colourin the segments abdeg Uj

U

Wnatis the code to display the fast 3 dgis of your telephone number?

(Task )

Many electronic displays use them.
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